B EBEE AR AR TEREMBE R HMER ER104 BEFABALBH)

MENE | REEW | Bom | mem T - BB = B=EE = - %%$ = e
10, 6 e 3 3 R R - B
T AR R T AR B B2 TG ~ B
SEBBUSREM, - SRR (LB - of
HNRRHR ~ SEEREH £l
|- 4| FE 22 2 2 2 2 2 %ﬁ;% +f rfﬁrﬁfﬁ%@g\ jﬁf
B B EBIVRS - 2B
A b s Y e
R 2 g 2
WX |4 FIE 2 )
38-HEFEHLSL 2 BN 2
éﬂ:—ﬁ%ﬁ%ﬁ 19_’5@%%%%% 0 Z:IKE 0 0 0 0 @L%%Q/J\H%‘ ’ 2Eﬂ%i@*:7\/\ﬁ?7j< °
2 ﬁw%@ﬂa;;efmw . - .
ﬁaf%%:ﬁmw ; - )
R R B B A
%@mw SR YRR TR
N ) R R B » (S B RE
FOCRRI g ik Y zai% AN TSR, B (F
E5y) DU RIS DM G - A
FAhE B -
HEHEREE /Nt 28 9 9 4 2 2 2 0 0
PR () 3 I 3
e 2 e )
ST 2 e )
PSiE 2 RIE )
R 3 FIE 3
B R
(=) 3 NS 3 KIZEAV TS

BETE(E)

i/ 3 FER 3
LBy E 1 IR 1
e 3 FER 3
IR 3 ER 3

T2 ()

TR ()R
3 IR 3 KOS TG
ETE(E)

ZETEEE, T2 3 NG 3
& EVAL 3 TR 3
TARE e 2 KR 2

THREE(T)

(0 O O]
3 PN 3 ES= N
BETEE(E)

iR 3 ENES 3
R 3 IR 3
VESERISE 2 BN 2
A PATRES 3 ENIES 3
LA TR 2 IR 2
TR AT 3 IR 3
G2 2 IR 2
HE 2GR s 3 ENIES 3
ﬁ“f%ﬁ 3 ENIES 3
2T BB 3 ENIES 3
rﬁﬁfﬁifﬁf_ 3 ENIES 3
AL RO S BoR e 3 ENIES 3
ZETEZEMEE Y/ NGt 72 12 13 11 14 13 9 0 0
Loy 100 21 22 15 16 15 11 0 0
IMELEE SR 100
BEERARE T8 32
LR 132
LANHKIRIER BB = ~ El=E ~ SBebo O ~ sBSC4H - JESLRTTRERAR) £ 1885y -
PN Tt e EIECL
HsE 3RS AR A s (VBREEkET ~ CRE(GE S ~ MatlabfEx(GE S ~ Fortranf2xGaE s ~ MUESHT ~ JavarsiE—» [RIET - BE

EHEERBERD) -
AEEAZE TR EEWNA S HIMER B BA ZIRIEIIR 15825 - AT EA S H FURIIE -




